Math 233 - Quiz 9 Name 485
April 6, 2023 Score

Show all work to receive full credit. Supply explanatlons when necessary.

1. (3 points) Find an equation of the plane tangent to the graph of 2 +dxy—y3—2=0
at the point where (z,y) = (3,2).
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2. (4 points) LLet z = In(z? + 4y), where z = r cos§ and y = rsinf. Use the appropriate
multi-variable chain rule to determine formulas for dz/0r and 0z/06.
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3. (3 points) The graph of the equation z° + zy? = 3z® — y* is called a trisectriz of
Maclaurin. Use partial derivatives to ﬁnd dy/dx.
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